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SUB. MILLISECOND. PAUSE. TIME. ON. AN.
18. GIG. HEAP.

Brian Hatfield @brianhatfield - 23 Aug 2017 v
Replying to @brianhatfield

1.9rc2 canary: sub-millisecond pause time GC (18GB heap). Same as 1.8.3.

If you're not on 1.8.3, upgrade or try 1.9rc2.

(Trying out Go 1.8 beta 1') GC Pause (18GB Heap)
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2.% go get -u github.com/akio/rosgo/ros

3.% go install github.com/akio/rosgo/gengo

4. 1mport “github.com/akio/rosgo/ros”


http://github.com/akio/rosgo/ros
http://github.com/akio/rosgo/gengo
http://github.com/akio/rosgo/ros

Publisher

package main

import (
llfmtll
"github.com/akio/rosgo/ros"
HOS "
"std msgs”
"time"

)

func main() {
node,  := ros.NewNode("/talker", os.Args)
defer node.Shutdown ()
pub,  := node.NewPublisher("/chatter"”, std msgs.MsgString)
for node.OK() {
node.Spin0Once ()
var msg std msgs.String
msg.Data = fmt.Sprintf("hello %s", time.Now().String())
pub.Publish(&msg)
time.Sleep(time.Second)



Subscriber

package main

import (
"fmt"
"github.com/akio/rosgo/ros"”
g "
"std msgs”

)

func callback(msg *std msgs.String) {
fmt.Printf ("Received: %s\n", msg.Data)

;

func main() {
node,  := ros.NewNode("/listener"”, os.Args)
defer node.Shutdown ()

node.NewSubscriber ("/chatter"”, std msgs.MsgString, callback)
node.Spin()

;



Example: Service Server

package main

import (
"fmt"
"github.com/akio/rosgo/ros”
"og"
"rospy tutorials”

)

func callback(srv *rospy tutorials.AddTwolInts) error {
srv.Response.Sum = srv.Request.A + srv.Request.B
fmt.Printf("%d + %d = %d\n", srv.Request.A, srv.Request.B, srv.Response.Sum)
return nil

}
func main() {
node, @ := ros.NewNode("server", os.Args)
defer node.Shutdown()
server, := node.NewServiceServer ("/add two ints", rospy tutorials.SrvAddiwolnts, callback)

defer server.Shutdown()
node.Spin()



Service Client

package main

import (
"fmt"
"github.com/akio/rosgo/ros"”
"og"
"rospy tutorials”

)

func main() {
node, @ := ros.NewNode("client", os.Args)
defer node.Shutdown()

cli, _ := node.NewServiceClient("/add two ints", rospy tutorials.SrvAddTwolInts)
defer cli.Shutdown()

var srv rospy tutorials.AddTwolnts

srv.Request.A =

srv.Request.B =

= cli.Call(&srv)

fmt.Printf("%d + %d = %d\n", srv.Request.A, srv.Request.B, srv.Response.Sum)

}



Parameters

package main

import (
Hfmtll
"github.com/akio/rosgo/ros"
II'I-OgH
IlOSH

)

func main() {
node, @ := ros.NewNode("/test param", os.Args)
defer node.Shutdown ()

hasParam, _ := node.HasParam("/rosdistro")
param, _ := node.GetParam("/rosdistro")

err := node.SetParam("/test param", 42)
param, _ := node.GetParam("/test param")

err := node.DeleteParam("/test param")
foundKey,  := node.SearchParam(“/rosdistro")
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Thank you!
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